THE CITY OF ROUND ROCK

Utilities & Environmental Services

2008 Enterprise Drive Round Rock, Texas 78664

BIDS EXTENDED AND CHECKED

BY: Jorae R & DLH

DATE: 4/10/2018

BID TABULATION

SHEET: 1 of 4

CONTRACT: Dry Branch Tributaries Channel Improvements				Smith Contracting		Chasco Constructors		Austin Filter Systems		ERS of MIS	
LOCATION: 2008 Enterprise Drive				Statement of Safety? Yes		Statement of Safety? Yes		Statement of Safety? Yes		Statement of Safety? Yes	
DATE:	4/10/2018	Addenda? Yes		Addenda? Yes		Addenda? Yes		Addenda? Yes			
TIME:	2:00pm			Bid Bo	ond? Yes						
					BASE BI	D					
		APPROX.		UNIT		UNIT		UNIT		UNIT	
ITEM #	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
1	Preparing Right of Way	7	AC	\$15,000.00	\$105,000.00	\$25,000.00	\$175,000.00	\$17,000.00	\$119,000.00	\$10,000.00	\$70,000.00
2	Channel Excavation	15300	CY	\$20.00	\$306,000.00	\$20.00	\$306,000.00	\$13.00	\$198,900.00	\$12.00	\$183,600.00
3	Embankment	5490	CY	\$8.00	\$43,920.00	\$10.00	\$54,900.00	\$6.45	\$35,410.50	\$15.00	\$82,350.00
4	Conc. Structures (24" RCP Headwall)	3	CY	\$550.00	\$1,650.00	\$1,000.00	\$3,000.00	\$2,300.00	\$6,900.00	\$700.00	\$2,100.00
5	Conc. Structures (42" RCP Headwall)	3	CY	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00	<u>\$1,500.00</u>	\$4,500.00	\$700.00	\$2,100.00
6	Conc. Structures (12" PVC Headwall)	0.5	CY	\$1,800.00	\$900.00	\$1,000.00	\$500.00	\$3,800.00	\$1,900.00	\$800.00	\$400.00
7	Concrete For Structures (Apron Slabs)	250	SY	\$79.00	\$19,750.00	\$105.00	\$26,250.00	\$124.00	\$31,000.00	\$150.00	\$37,500.00
8	Conc. Structures (Drop Structure)	1	CY	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$3,600.00	\$3,600.00	\$1,500.00	\$1,500.00
9	Conc. Structures (Trench Drain)	1	EA	\$13,000.00	\$13,000.00	\$16,750.00	\$16,750.00	\$8,600.00	\$8,600.00	\$6,000.00	\$6,000.00
10	Manhole Adjustments	4	EA	\$1,300.00	\$5,200.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00
11	New Manhole Construction, 60" DIA	1	EA	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$7,000.00	\$7,000.00	\$8,000.00	\$8,000.00
12	New Manhole Construction, 48" DIA	1	EA	\$5,000.00	\$5,000.00	\$6,570.00	\$6,570.00	\$6,200.00	\$6,200.00	\$6,000.00	\$6,000.00
13	Pipe, 24" RCP	75	LF	\$77.00	\$5,775.00	\$100.00	\$7,500.00	\$157.00	\$11,775.00	\$225.00	\$16,875.00
14	Pipe, 42" RCP (Reuse Existing Pipe)	150	LF	\$140.00	\$21,000.00	\$175.00	\$26,250.00	\$228.00	\$34,200.00	\$375.00	\$56,250.00
15	Pipe, 12" DIA Steel Casing	60	LF	\$75.00	\$4,500.00	\$90.00	\$5,400.00	\$148.00	\$8,880.00	\$200.00	\$12,000.00
16	Pipe, 6" DIA SDR-26 PVC	220	LF	\$42.00	\$9,240.00	\$55.00	\$12,100.00	\$55.00	\$12,100.00	\$120.00	\$26,400.00
17	Pipe, 12" DIA SDR-26 PVC	442	LF	\$65.00	\$28,730.00	\$55.00	\$24,310.00	\$58.00	\$25,636.00	\$100.00	\$44,200.00
18	Pipe, 18" DIA Steel Casing	125	LF	\$80.00	\$10,000.00	\$115.00	\$14,375.00	\$141.00	\$17,625.00	\$200.00	\$25,000.00
19	Dry Rock Riprap	240	SY	\$63.00	\$15,120.00	\$130.00	\$31,200.00	\$47.00	\$11,280.00	\$50.00	\$12,000.00
20	Dry Rock Riprap (New Trickle Channel)	729	SY	\$35.00	\$25,515.00	\$45.00	\$32,805.00	\$42.00	\$30,618.00	\$40.00	\$29,160.00
21	Gabion Baskets	359	CY	\$260.00	\$93,340.00	\$230.00	\$82,570.00	\$253.00	\$90,827.00	\$500.00	\$179,500.00
22	Soil Retention Blanket	17260	SY	\$1.50	\$25,890.00	\$1.50	\$25,890.00	\$2.43	\$41,941.80	\$2.50	\$43,150.00
23	Topsoil & Seedbed Prep. (Reuse Onsite)	30500	SY	\$1.25	\$38,125.00	\$1.00	\$30,500.00	\$1.40	\$42,700.00	\$1.00	\$30,500.00
24	Native Seeding	30500	SY	\$2.10	\$64,050.00	\$0.90	\$27,450.00	\$7.50	\$228,750.00	\$0.50	\$15,250.00
25	Rock Berm	245	LF	\$23.00	\$5,635.00	\$25.00	\$6,125.00	\$42.00	\$10,290.00	\$25.00	\$6,125.00
26	Stabilized Construction Entrance	3	EA	\$1,200.00	\$3,600.00	\$3,000.00	\$9,000.00	\$1,400.00	\$4,200.00	\$2,000.00	\$6,000.00
27	Erosion Control Log	1800	LF	\$8.50	\$15,300.00	\$9.00	\$16,200.00	\$13.00	\$23,400.00	\$9.00	\$16,200.00

DID TABLE ATION

BID TABULATION											
Contract: Dry Branch Tributaries Channel Improvements (Continued) SHEET: 2 of 4											
ITEM#	ITEM DESCRIPTION	APPROX. QTY.	UNIT	Smith Contracting \$4.00 \$6,000.00		Chasco Constructors		Austin Filter Systems		ERS of M S	
28	Temporary Fencing	1500	LF			\$4.00	\$6,000.00	\$5.43	\$8,145.00	\$7.00	\$10,500.00
29	New Fencing	2835	LF	\$17.00	\$48,195.00	\$17.00	\$48,195.00	\$23.00	\$65,205.00	\$24.00	\$68,040.00
30	Double Gate	3	EA	\$1,700.00	\$5,100.00	\$1,500.00	\$4,500.00	\$2,200.00	\$6,600.00	\$1,300.00	\$3,900.00
31	Permanent Turf Reinforcement Matting	4070	SY	\$8.25	\$33,577.50	\$8.00	\$32,560.00	\$9.00	\$36,630.00	\$13.00	\$52,910.00
32	Articulated Concrete Block	1900	SY	\$110.00	\$209,000.00	\$85.00	\$161,500.00	<u>\$96.00</u>	\$182,400.00	\$120.00	\$228,000.00
33	Barricades, Signs & Traffic Handling	1	LS	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$12,300.00	\$12,300.00	\$8,500.00	\$8,500.00
34	Trench Safety	600	LF	\$1.00	\$600.00	\$3.00	\$1,800.00	\$1.25	\$750.00	\$24.00	\$14,400.00
35	Tree Protection	650	LF	\$3.00	\$1,950.00	\$3.50	\$2,275.00	\$4.00	\$2,600.00	\$6.00	\$3,900.00
36	Total Mobilization (Not To Exceed 5%)	1	LS	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$69,000.00	\$69,000.00
	TOTAL BASE BID:				\$1,253,162.50		\$1,279,975.00	\$1,387,863.30		\$1,383,310.00	
ADD ALTERNATE 1											
ITEM #	ITEM DESCRIPTION	APPROX. QTY.	UNIT	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST
A1	Gravity Block Wall	320	LF	\$500.00	\$160,000.00	\$384.00	\$122,880.00	\$438.00	\$140,160.00	\$1,500.00	\$480,000.00
TOTAL ADD ALTERNATE NO.1:				\$160,000.00		\$122,880.00	-	\$140,160.00		\$480,000.00	
				AD	D ALTERN	IATE 2					. ,
		APPROX.		UNIT		UNIT		UNIT		UNIT	
ITEM #		QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
A2	Flexible Erosion Control Blanket	17260	SY	\$3.50	\$60,410.00	\$1.95	\$33,657.00	\$2.00	\$34,520.00	\$4.00	\$69,040.00
	TOTAL ADD ALTERNATE NO.:	2:			\$60,410.00		\$33,657.00		\$34,520.00		\$69,040.00
				AD	D ALTERN	IATE 3					
		APPROX.		UNIT		UNIT		UNIT		UNIT	222
ITEM # A3	ITEM DESCRIPTION Concrete Block Erosion Control Mat	QTY. 1900	UNIT SY	PRICE	COST \$152,000.00	PRICE	COST	PRICE	COST \$121,600.00	PRICE No Bid	COST No Bid
AS		1900	OI.	\$80.00		\$70.00	\$133,000.00	\$64.00		No Bid	
	TOTAL ADD ALTERNATE NO.3:				\$152,000.00		\$133,000.00		\$121,600.00		No Bid
OTHER TOTALS											
	BASE BID + ADD ALTERNATE 1:				\$1,319,822.50		\$1,320,285.00		\$1,437,196.30		\$1,683,810.00
									.		
	BASE BID + ADD ALTERNATES 1 &	2:			\$1,354,342,50		\$1,328,052,00		\$1,429 774 50		\$1,709,700.00
	BASE BID + ADD ALTERNATES 1 &		nrice: h	ıt unit nrice di	\$1,354,342.50 d not appear in (doubt	\$1,328,052.00		\$1,429,774.50		\$1,709,700.00
Bold an	d Underline indicates slight misspelling in w	ritten unit p		•	d not appear in		\$1,328,052.00		\$1,429,774.50		\$1,709,700.00
Bold and Italics a		ritten unit p unit price d		•	d not appear in		\$1,328,052.00		\$1,429,774.50		\$1,709,700.00

THE CITY OF ROUND ROCK

Utilities & Environmental Services

2008 Enterprise Drive Round Rock, Texas 78664

BIDS EXTENDED AND CHECKED

BY: Jorae R. & DLH

DATE: 4/10/2018

BID TABULATION (CONTINUED)

SHEET: 3 of 4

										<u> </u>	0 0		
CONTI	RACT: Dry Branch Tributaries Chann	el Improve	ments	<u>-1</u>	- Laughlin	D&S Concre	te Contractors						
LOCA	FION: 2008 Enterprise Drive	Statement of Safety? Yes		Statement of Safety? Yes		Statement of	Safety?	Statement of	Safetv?				
	4/10/2018	Addenda? Yes		Addenda? Yes		Addenda?		Addenda?					
TIME:	2:00pm			Bid Bond? Yes		Bid B	ond?Yes	Bid	Bond?	Bid Bond?			
BASE BID													
		APPROX.		UNIT	_	UNIT		UNIT		UNIT			
ITEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST		
1	Preparing Right of Way	7	AC	\$8,950.00	\$62,650.00	\$10,700.00	\$74,900.00		\$0.00		\$0.00		
2	Channel Excavation	15300	CY	\$20.75	\$317,475.00	\$25.00	\$382,500.00		\$0.00		\$0.00		
3	Embankment	5490	CY	\$9.75	\$53,527.50	\$18.00	\$98,820.00		\$0.00		\$0.00		
4	Conc. Structures (24" RCP Headwall)	3	CY	\$2,720.00	\$8,160.00	\$1,000.00	\$3,000.00		\$0.00		\$0.00		
5	Conc. Structures (42" RCP Headwall)	3	CY	\$2,720.00	\$8,160.00	\$1,000.00	\$3,000.00		\$0.00		\$0.00		
6	Conc. Structures (12" PVC Headwall)	0.5	CY	\$2,400.00	\$1,200.00	\$1,000.00	\$500.00		\$0.00		\$0.00		
7	Concrete For Structures (Apron Slabs)	250	SY	\$267.00	\$66,750.00	\$120.00	\$30,000.00		\$0.00		\$0.00		
8	Conc. Structures (Drop Structure)	1	CY	\$2,600.00	\$2,600.00	\$1,000.00	\$1,000.00		\$0.00		\$0.00		
9	Conc. Structures (Trench Drain)	1	EΑ	\$13,440.00	\$13,440.00	\$3,000.00	\$3,000.00		\$0.00		\$0.00		
10	Manhole Adjustments	4	EΑ	\$1,200.00	\$4,800.00	\$4,000.00	\$16,000.00		\$0.00		\$0.00		
11	New Manhole Construction, 60" DIA	1	EΑ	\$4,675.00	\$4,675.00	\$18,000.00	\$18,000.00		\$0.00		\$0.00		
12	New Manhole Construction, 48" DIA	1	EΑ	\$6,350.00	\$6,350.00	\$15,000.00	\$15,000.00		\$0.00		\$0.00		
13	Pipe, 24" RCP	75	LF	\$60.75	\$4,556.25	\$400.00	\$30,000.00		\$0.00		\$0.00		
14	Pipe, 42" RCP (Reuse Existing Pipe)	150	LF	\$159.25	\$23,887.50	\$500.00	\$75,000.00		\$0.00		\$0.00		
15	Pipe, 12" DIA Steel Casing	60	LF	\$114.00	\$6,840.00	<u>\$250.00</u>	\$15,000.00		\$0.00		\$0.00		
16	Pipe, 6" DIA SDR-26 PVC	220	LF	\$27.50	\$6,050.00	\$60.00	\$13,200.00		\$0.00		\$0.00		
17	Pipe, 12" DIA SDR-26 PVC	442	LF	\$37.25	\$16,464.50	\$100.00	\$44,200.00		\$0.00		\$0.00		
18	Pipe, 18" DIA Steel Casing	125	LF	\$101.00	\$12,625.00	\$350.00	\$43,750.00		\$0.00		\$0.00		
19	Dry Rock Riprap	240	SY	\$108.00	\$25,920.00	\$350.00	\$84,000.00		\$0.00		\$0.00		
20	Dry Rock Riprap (New Trickle Channel)	729	SY	\$54.00	\$39,366.00	\$350.00	\$255,150.00		\$0.00		\$0.00		
21	Gabion Baskets	359	CY	\$400.00	\$143,600.00	\$250.00	\$89,750.00		\$0.00		\$0.00		
22	Soil Retention Blanket	17260	SY	\$1.50	\$25,890.00	\$2.00	\$34,520.00		\$0.00		\$0.00		
23	Topsoil & Seedbed Prep. (Reuse Onsite)	30500	SY	\$1.25	\$38,125.00	\$1.00	\$30,500.00		\$0.00		\$0.00		
24	Native Seeding	30500	SY	\$1.25	\$38,125.00	\$1.00	\$30,500.00		\$0.00		\$0.00		
25	Rock Berm	245	LF	\$25.75	\$6,308.75	\$50.00	\$12,250.00		\$0.00		\$0.00		
26	Stabilized Construction Entrance	3	EΑ	\$1,380.00	\$4,140.00	\$2,000.00	\$6,000.00		\$0.00		\$0.00		
27	Erosion Control Log	1800	LF	\$3.00	\$5,400.00	\$7.00	\$12,600.00		\$0.00		\$0.00		
28	Temporary Fencing	1500	LF	\$4.00	\$6,000.00	\$4.00	\$6,000.00		\$0.00		\$0.00		

Contra	act: Dry Branch Tributaries Cha	nnel Imp	rovem	ents (Cont	inued)		-			SHEET: 4 of 4	1
TEM#	ITEM DESCRIPTION	APPROX. QTY.	UNIT			D&S Concrete Contractors					
29	New Fencing	2835	LF	\$14.00	\$39,690.00	\$10.00	\$28,350.00		\$0.00		\$0.00
30	Double Gate	3	EΑ	\$600.00	\$1,800.00	\$5,000.00	\$15,000.00		\$0.00		\$0.00
31	Permanent Turf Reinforcement Matting	4070	SY	\$5.40	\$21,978.00	\$5.00	\$20,350.00		\$0.00		\$0.00
32	Articulated Concrete Block	1900	SY	\$178.75	\$339,625.00	\$65.00	\$123,500.00		\$0.00		\$0.00
33	Barricades, Signs & Traffic Handling	1	LS	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00		\$0.00		\$0.00
34	Trench Safety	600	LF	\$5.00	\$3,000.00	\$13.00	\$7,800.00		\$0.00		\$0.00
35	Tree Protection	650	LF	\$4.50	\$2,925.00	\$8.00	\$5,200.00		\$0.00		\$0.00
36	Total Mobilization (Not To Exceed 5%)	1	LS	\$71,000.00	\$71,000.00	<u>\$85,965.26</u>	\$85,965.26		\$0.00		\$0.00
	TOTAL BASE BID:				\$1,435,103.50		\$1,719,305.26		\$0.00		\$0.00
				AD	D ALTERN	NATE 1					
		APPROX.		UNIT		UNIT		UNIT		UNIT	
TEM #	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
A1	Gravity Block Wall	320	LF	\$750.00	\$240,000.00	\$250.00	\$80,000.00		\$0.00		\$0.00
	TOTAL ADD ALTERNATE NO.	1:		A D	\$240,000.00	LATEO	\$80,000.00		\$0.00		\$0.00
		T			D ALTERN						
TEM #	ITEM DESCRIPTION	APPROX. QTY.	UNIT	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST
A2	Flexible Erosion Control Blanket	17260	SY	\$1.25	\$21,575.00	\$1.50	\$25,890.00	FRICE	\$0.00	FRICE	\$0.00
/_	TOTAL ADD ALTERNATE NO.		01	ψ1.20	\$21,575.00	ψ1.50	\$25,890.00		\$0.00		\$0.00
				AD	D ALTERN	IATE 3	V=0,000.00		V 0.00		40.0
		APPROX.		UNIT		UNIT		UNIT		UNIT	
TEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
А3	Concrete Block Erosion Control Mat	1900	SY	\$73.00	\$138,700.00	\$40.00	\$76,000.00		\$0.00		\$0.00
	TOTAL ADD ALTERNATE NO.3:				\$138,700.00		\$76,000.00		\$0.00		\$0.00
				01	HER TOTA	ALS					
	BASE BID + ADD ALTERNATE 1:				\$1,531,503.50		\$1,709,555.26		\$0.00		\$0.00
	BASE BID + ADD ALTERNATES 1 &	2:			\$1,527,188.50		\$1,700,925.26		\$0.00		\$0.00
	d Underline indicates slight misspelling in w		orice: bi	ut unit price di	. , ,	doubt.					
	d Italics indicate written unit price was ente	-		-							